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= X 4 Y AORES[ 7 4 THRALDKE] B NOKRES X 4 B | LHpoDIEH AORES[ 7 4 ERALOIES | & NOKRES
(m) (m) (kN/rri) BB (m) (m) | (kN/mi) (m) (m) (kN/ ) (m) m) | &N/m)
2 100kN/m%E#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = - -
Zh Lt 1.00{0.00 ~ 5.85 73.19| #hst [0.00 ~ 585 1.87 9.79 Zh Lt 1.00| 5.00 ~ 6.81 73.19| #hLi4 | 500 ~ 6.81 1.87 9.79
3 100kN/m%Ei#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = - -
Zh Lt 1.00{0.00 ~ 5.85 73.15| #hst [0.00 ~ 585| 1.71 8.96 Zh Lt 1.00| 500 ~ 6.59 73.15| #hsk | 500 ~ 659 1.71 8.96
4 100kN/m%Ei#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = - -
Zh Lt 1.00{0.00 ~ 6.23 78.19| #hst [0.00 ~ 6.23| 1.68 8.80 Zh Lt 1.00| 5.00 ~ 7.31 78.19| #hLi4 | 500 ~ 7.31| 1.68 8.80
5 100kN/m%Ei#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = - -
Zh Lt 1.00{0.00 ~ 7.68 98,51 #hist [0.00 ~ 7.68| 1.93 10.14 Zh Lt 1.00| 5.00 ~ 12.24 9851 #hlis | 500 ~ 12.24| 1.93 10.14
. 100kN/mi%#%% | 1.00/0.00 ~ 1.33 120.13| 3m%EBZB| - ~ - - -| 100kN/mi%E#%% | 1.00[11.32 ~ 17.05 120.13| 3m%882 3 -~ - - -
Zh Lt 1.00{1.33 ~ 9.11 100.00| #h st |0.00 ~ 9.11| 2.19 11.48 Zh st 1.00| 500 ~ 11.32 100.00[ #hwst | 5.00 ~ 17.05| 2.19 11.48
. 100kN/mi%#82% | 1.00/0.00 ~ 0.86 112.79| 3m%EBZB| - ~ - - —| 100kN/mi%E#%% | 1.00[10.99 ~ 13.95 112.79| 3m%#82 % -~ - - -
Zh Lt 1.00{0.86 ~ 8.64 100.00| #h st |0.00 ~ 8.64| 2.05 10.76 Zh st 1.00| 5.00 ~ 10.99 100.00| #hwist | 500 ~ 13.95| 2.05 10.76
. 100kN/mi%#8%% | 1.00/0.00 ~ 0.98 114.76| 3m%E8BZ3| - ~ - - -| 100kN/mi%E#%% | 1.00(10.74 ~ 14.00 114.76| 3m%882 3 -~ - - -
Zh Lt 1.00{0.98 ~ 8.77 100.00| #h st |0.00 ~ 877| 2.09 10.97 Zh Lt 1.00| 500 ~ 10.74 100.00| #hst | 500 ~ 14.00| 2.09 10.97
" 100kN/mi%#8%% | 1.00/0.00 ~ 1.44 121.82| 3m%EBZB| - ~ - - -| 100kN/mi%E#%% | 1.00(10.55 ~ 15.40 121.82| 3m%#82 3 -~ - - -
Zh Lt 1.00{1.44 ~ 922 100.00| #h st |0.00 ~ 9.22| 2.34 12.28 Zh Lt 1.00| 5.00 ~ 10.55 100.00| #huist | 500 ~ 1540| 2.34 12.28
- 100kN/mi%#%% | 1.00/0.00 ~ 150 122.79| 3m%EBZB| - ~ - - -| 100kN/mi%#2% | 1.00| 11.46 ~ 16.66 122.79]| 3m%882 % -~ - - -
Zh Lt 1.00{1.50 ~ 9.28 100.00| #h st |0.00 ~ 9.28] 2.62 13.76 Zh Lt 1.00| 500 ~ 11.46 100.00| #h st | 500 ~ 16.66] 2.62 13.76
» 100kN/mi%#%% | 1.00/0.00 ~ 0.80 111.99| 3m%BZB| - ~ - - -| 100kN/mi%E#%% | 1.00(13.57 ~ 16.68 111.99| 3m%882 3 -~ - - -
Zh Lt 1.00{0.80 ~ 859 100.00| #h st | 000 ~ 859 2.83 14.82 Zh Lt 1.00| 5.00 ~ 1357 100.00| #huist | 500 ~ 16.68] 2.83 14.82
- 100kN/mi%#82% | 1.00/0.00 ~ 1.56 123.87|3m%EBZB| - ~ - - -| 100kN/mi%E#%% | 1.00[12.08 ~ 18.00 123.87| 3m%882 3 -~ - - -
Zh Lt 1.00{1.56 ~ 9.35 100.00| #h st | 000 ~ 9.35| 2.70 14.15 Zh Lt 1.00| 5.00 ~ 12.08 100.00| #hust | 500 ~ 18.00] 2.70 14.15
. 100kN/mi%#82% | 1.00/0.00 ~ 0.37 105.50| 3m%#8Z3| - ~ - - -| 100kN/mi%E#%% | 1.00( 1277 ~ 14.00 105.50| 3m%#82 % -~ - - -
Zh Lt 1.00{0.37 ~ 8.16 100.00| #h st |0.00 ~ 8.16| 2.54 13.34 Zh Lt 1.00| 500 ~ 12.77 100.00| #huist | 500 ~ 14.00| 2.54 13.34
" 100kN/mi%#%% | 1.00/0.00 ~ 1.22 118.43|3m%EBZB| - ~ - - -| 100kN/mi%E#2x% | 1.00/10.86 ~ 14.67 118.43| 3m%#82 % -~ - - -
Zh Lt 1.00{1.22 ~ 9.00 100.00| #h st |0.00 ~ 9.00] 2.32 12.18 Zh Lt 1.00| 5.00 ~ 10.86 100.00| #h st | 500 ~ 14.67| 2.32 12.18
.5 100kN/mi%#%% | 1.00/0.00 ~ 0.52 107.65|3m%#Z3| - ~ - - -| 100kN/mi%E#%% | 1.00(10.58 ~ 12.00 107.65| 3m%#82 3 -~ - - -
Zh Lt 1.00{ 052 ~ 8.30 100.00| #h st |0.00 ~ 8.30| 2.24 11.74 Zh Lt 1.00| 5.00 ~ 10.58 100.00| #h st | 500 ~ 12.00] 2.24 11.74
16 100kN/m%E#B 7% = -~ = -|3m%EB A5 -~ = = —| 100kN/mM#E# %5 = -~ = -|3mZEBZD -~ = - -
Fhust 1.00/0.00 ~ 5.39 67.23| Fhsh | 000 ~ 539| 1.64 8.61 hust 1.00] 500 ~ 6.00 67.23| #hiist | 500 ~ 6.00] 1.64 8.61
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